LEVEL 6 VAULT - Handspring

No stick bonus

Repeat vault =-1.0 from SV Vertical Block

or Yamashita Max Distance = 82' Minimum score = 1.0
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[ [ |
|:| Handspring Base 9.2 +Virt 0.3 = 9.5 Max |:| Handspring Base 9.2 +Virt 0.3 = 9.5 Max
[] Yamashita Base 9.7 +Virt0.3 = 10.0 Max [] Yamashita Base 9.7 +Virt0.3 = 10.0 Max
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|:| Handspring Base 9.2 +Virt0.3 = 9.5 Max |:| Handspring Base 9.2 +Virt 0.3 = 9.5 Max
[] Yamashita Base 9.7 +Virt0.3 = 10.0 Max [] Yamashita Base 9.7 +Virt 0.3 = 10.0 Max
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[] Yamashita Base 9.7 +Virt0.3 = 10.0 Max [] Yamashita Base 9.7 +Virt0.3 = 10.0 Max
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[ [ |
|:| Handspring Base 9.2 +Virt0.3 = 9.5 Max |:| Handspring Base 9.2 +Virt0.3 = 9.5 Max
[] Yamashita Base 9.7 +Virt0.3 = 10.0 Max [] Yamashita Base 9.7 +Virt 0.3 = 10.0 Max




